VIONARO

Technical information H89

MOUNTING/DISMOUNTING

Inserting the drawer

Place the drawer on the extended
slides.

Push the drawer fully home.
Drawer engages automatically!

Removing the drawer

Pull out the drawer, operate the front
locking device lever on both sides
and lift drawer off the slides.

Front panel installation

Insert the front connection into
the drawer sides. The front panel
engages automatically and is fixed.

Removing the front panel

Use Pozidriv No. 2 screw driver
to release.

24 GRASS



TECHNICAL INFORMATION H89

INSTALLATION ADVICE

Front connection with @ 10 x 12 mm press-fit dowels Front connection with @ 8 x 12 mm expansion dowels

The holes for the front fixing should Alternatively it is possible to use front
be countersunk in order to ensure connections with expansion dowels;
maximum strength and a perfect these do not require countersinking.
finish.

ADJUSTMENTS

Height adjustment with cam on both sides (+2.5/-1.5 mm)

Side adjustment (+ 1.5 mm)
Adjust both sides.

Front tilt angle adjustment (+2.5/-1.5 mm)
Adjust both sides.

GRASS 25



VIONARO

Technical information H185

MOUNTING/DISMOUNTING

Inserting the drawer

Place the drawer on the extended
slides.

Push the drawer fully home.
Drawer engages automatically!

Removing the drawer

Pull the drawer out, move the lever of
the locking device and lift the drawer
from the slides.

Front panel installation

Insert the front connection into
the drawer sides. The front panel
engages automatically, fit the front
stabiliser.

Removing the front panel

Use Pozidriv No. 2 screw driver
to release.

26 GRASS



TECHNICAL INFORMATION H185

INSTALLATION ADVICE

Front connection with @ 10 x 12 mm press-fit dowels Front connection with @ 8 x 12 mm expansion dowels
The holes for the front fixing should Alternatively it is possible to use front

be countersunk in order to ensure connections with expansion dowels;

maximum strength and a perfect these do not require countersinking.

finish.
ADJUSTMENTS

Height adjustment with cam on both sides (+2.5/-1.5 mm)

STOTT T

Side adjustment, right (+ 1.5 mm)
Adjust both sides.

Front tilt angle adjustment (+2.5/-1.5 mm)
Adjust both sides.

GRASS 27



DRAWER H89 WITH WOODEN BACK PANEL

PLANNING DIMENSIONS All dimensions in millimetres
Front panel installation dimensions Back panel installation dimensions Cutting dimensions for 16 mm board
RWB = LWK -42
g E I
RW L
. » . v IR
RWB = LWK - 42 MER
min. RWB = 120 mm T ‘
[ h
| Em—F o0 ! .
— [ _ Y D
\J ( | 3 _: E
7 N
i ! S | 1 N I 8 3
~ o L | @ S |
g | o ﬁ | Y
o \ o [ \
< L [ I I
1 —= 7 IR =TT »
~ /] BB = LWK-21
2| 9 r © |
=] © o[ [
E' ~ 2 - | e
L | __ _ |
14.5
BB = LWK - 21
e FAS | |
Fixing positions for full extension slide
Special Euro screw @ 6.3 x 14 mm
18 KV, Chipboard screw @ 3.5 x 15 mm
9 2319 10 Screw head @ 7 mm
rl\.\ \.Jrl \ ’
: Q0 9o —
N
| -
‘ 28
<37
KV
28
KV
] [ 37
1, 0O @00 OO0 o + (o]e]
l o 270 - 300
] ‘ | ¥ ¥ § § F ¥ 5
C e 2o_%0od 35 - 450 § (ET X N 228 450
E 3 | I E y ¥ g
= (22 300 40 $oo o_%00d)| F (322 $eogoctee s o doos) 0 oo
y ] ] ¥ ¥ H ] 1 E
c [ oo 00 ¢OO @00 oo o 00 - [ 00 $00 0o $oo $oo 000 o §008|
oo SO HOT PO $oc 550 codootoo o0 22| 600 - 650
| |
8§ 338338 3R 85 28 RER & °
« S Sy A MET = NL + 3 60k
MET = NL + 3 40 kg g
LEGEND
B Bottom panel FST Front overlay NL Nominal length
BB Bottom panel width KV Front edge of cabinet RW Back panel
BL Bottom panel length LWK Inside cabinet width RWB Width of back panel
FAS Front overlay, side MET Minimum installation depth RWH Height of back panel

All dimensions in millimetres. Subject to changes. GRASS 11



INSET DRAWER H89 WITH WOODEN BACK PANEL

PLANNING DIMENSIONS All dimensions in millimetres
Front panel installation dimensions Back panel installation dimensions Cutting dimensions for 16 mm board
RWB = LWK - 42
g 0] -
NE
[
LWK _ *1 0
RWB = LWK - 42
min. RWB = 120 mm : i
/
O
D10 ! <
T 4 I -
0 7 © N
<
~ S R N | N N | R O A A — @
< I
El | ¥
© b |
Y A -
& - BB = LWK - 21
i =
el N
BB = LWK - 21
Fixing positions for full extension slide
Special Euro screw @ 6.3 x 14 mm
KV
18 Chipboard screw @ 3.5 x 15 mm
933 ? -1 0 Screw head @ 7 mm
rl\.\ \.Jrl \ ’
OO -  a—
I o
| -
‘ 28
37
Kv,, KV,
37, 37
B § ¥
# 0@0 0O®0 000 [e] 0e00
‘ oo oo = 270 -300 § §F ¥ § §F
L e [O O O8O0 O®O [e]e]e] O o] le]
B ] | 450
[ stoces | oo 222929 | 350 - 450
\ 5 ¥ ¥ ¥ §F
i i I [OO 0@0 OQPO OO ooo [e] o] le] ]
c [oooooo odo 0¢ 0600 RN 500 - 550
ot o ofs o I 500
E § ¥ ¥ EF
[1 i § ; e [ [o] lelye] le) 09O OO OO [e]e]e] O oeoe 600 650
] le} 0®0 OQO Oe0 [e]v]e) O O®00| ) oo -
F oo Stooteoto Fo 550
o o
<t o © O < N O
o~ 0 O < N O © N O [colTe) @ WO N [sp]
[Te) 0 O N oo O ™ ™ ™M N N N
o N N N — — —
MET=NL+12—— 1 40kg < MET=NL+12 60 kg
LEGEND
B Bottom panel KB Cabinet width NL Nominal length
BB Bottom panel width KV Front edge of cabinet RW Back panel
BL Bottom panel length LWK Inside cabinet width RWB Width of back panel
IBB Inset panel width MET Minimum installation depth RWH Height of back panel

All dimensions in millimetres. Subject to changes. GRASS 13



DRAWER H185 WITH WOODEN BACK PANEL

PLANNING DIMENSIONS All dimensions in millimetres
Front panel installation dimensions Back panel installation dimensions Cutting dimensions for 16 mm board
LWK 10 RWB = LWK - 42
_ RWB = LWK - 42 _
min. RWB = 120 mm \ i | RIE
| o =
o
‘ ; |
L * ®10
A== Lo Isinn <
N I 1 ° = 2
7 (SN ~ o~
0 } } ‘ I o o n o
) O ] | | o~ =
R } o } I
" | — | =
£ )‘ g = L N
£ [l © ® o SO | <
\\ [ \{ | Y ©
& S |
o | I o g ¥
! o ! ‘ BB = LWK - 21
S0 Lpd | M
1 =7 = S—=_7] ™
5 1T - T
7 o ® © |
RS 2 I &
5% o P
I i L
BB = LWK - 21 - 15 -
—— FAS _|
Fixing positions for full extension slide
Special Euro screw @ 6.3 x 14 mm
18 KV, Chipboard screw @ 3.5 x 15 mm
9 2319 10 Screw head @ 7 mm
rl\.\ \.Jrl \ ’
: Q0 9o —
N
| -
‘ 28
<37
KV
28 Ky
] [ 37
PR et 570 300
- T T 55§ T EE
F [$00 o0 [ 400 L ERE ) i lpoo 9o 20 522 25228 450
E 3 | I E 5 1 H
F Ceotenaell 1L G o %959 5 i [ gogmee o HEels00- 550
y ] ] ¥ ¥ H ] ] ¥
- [ 00 00 $0o @00 oo o 00 - [ 00 $00 00 $oo €00 000 o $00@
rae SOOI DT o 550 oo dootoo oo 2l 600 - 650
[ |
8 ®gae=2d © o e SdN
MET = NL + 3 40 kg MET=NL =3 80kg
LEGEND
B Bottom panel FST Front overlay NL Nominal length
BB Bottom panel width KV Front edge of cabinet RW Back panel
BL Bottom panel length LWK Inside cabinet width RWB Width of back panel
FAS Front overlay, side MET Minimum installation depth RWH Height of back panel

All dimensions in millimetres. Subject to changes. GRASS 15



INSET DRAWER H185 WITH WOODEN BACK PANEL

PLANNING DIMENSIONS

All dimensions in millimetres

Front panel installation dimensions Back panel installation dimensions Cutting dimensions for 16 mm board
RWB = LWK - 42 o o |
min. RWB = 120 mm | N
| c =
10.5
T o
ol |
P
) 28 /j - D10
A== 3
‘ F S| ©
J7 I ~ ~
g | s — . E
4 O o~ =
E } [ I
— _ —
< N © @©
£ [ ;:L,% ® <
4:14 I L A ©
~~ [‘ 77777777\
o | S !
} v BB = LWK - 21
o 1 F L
© e_s ! 23
\ =2Z2B
& — 10
g & !
Ey N [re)
(A
BB - LWK - 21 1BB=LWK-8 _
-
Fixing positions for full extension slide
Special Euro screw @ 6.3 x 14 mm
KV
18 Chipboard screw @ 3.5 x 15 mm
92319 10
Screw head @ 7 mm
: Q0 =
N
| =
‘ 28
37
Kv,_, KV,
37, 37
4 § F
’F 0O@0 OO0 000 ] 0800
‘ oo oo 270 -300 § §F ¥ § §F
L e [O O O8O0 O®O [e]e]e] O o] le]
E 5 4 ‘ Soodoof 450
- [ S LS odo 0¢ 0@00 350 - 450
\ 5 ¥ 3 ¥ EE
i i I [O 0 [o] lelielolelye] le) ooo [e] o] le] ]
- [oooooo odo o 000 ‘ - ST hat S 500 - 550
~~~~~~~~~~~~~~ il 500
E § ¥ ¥ EF
[1 i ; ; e [ 0®O O®O0 09O OO OO [e]e]e] O oeoe 600 650
o] le} 0®0 00O OO0 000 O ] TeJe] T PO TOPOO oo =3 -
F N A > 550 =
! ! <+ o © O < N o
o~ W O < N O © N O [colTe) @ W0 N [sp]
[Te) 0 O N oo O [sp] [SPEENep) N N N
o N N N — — —
MET=NL+12—— 1 40kg -~ MET =NL + 12 60 kg
LEGEND
B Bottom panel KB Cabinet width NL Nominal length
BB Bottom panel width KV Front edge of cabinet RW Back panel
BL Bottom panel length LWK Inside cabinet width RWB Width of back panel
IBB Inset panel width MET Minimum installation depth RWH Height of back panel
All dimensions in millimetres. Subject to changes. GRASS 17




FULL EXTENSION SLIDE WITH SOFT-CLOSE, 40/60 KG

PLANNING DIMENSIONS All dimensions in millimetres
Installation dimensions NL SKL MET
LWK 270 260 273
- 300 290 303
rin RWE = 120 7 35 | a0 | 353
' 400 390 403
450 440 453
500 490 503
v N 550 540 553
© P 600 590 603
N o 650 640 653
= \
£ |
p , |
Y C_=_7
~N
% 9
€&
BB = LWK-21
- FAS | |4
Locking device fixing position
o ‘ o}
& | Bl
M e Min. 60 ‘ min. 60 |
O i O
g ‘ g
O ‘ o]
0
ly |
= (0 ‘ [
© R i OpgOXe]
L19].23
Fixing positions for full extension slide
18 & @ Special Euro screw @ 6.3 x 14 mm
9 2319 10 @‘ Chipboard screw @ 4 x 16 mm
DO P ) Screw head @ 7 mm
‘ N KV-
| o 28, |, KV,
‘ 28 ¥ § & 37
37 IP e =229 970 - 300
i i ? §§ [EOO EOO iOO ooo EO EiOO?
e et i il 450
E ¥ 2 5 ¥ ¥ ¥ ¥ E
I [ OO 00 900 [e]e) [e] [e]e} e [ 00 00 ®OO @00 000 [e] jele] |
R o Foo 3 500 o $ooFoooo . 500 - 550
] ] ] ¢ ¥ IR | { ¥ F S
E [ &® o0 o0 o0 @ ® & [ 00 @00 00 OO @00 000 o [ele] }
550 E o v oo doa Goo - 600 - 650
-~ e | I
5 883288 SRE g8 283 & <
~ MET = NL +3 =40 kg MET =NL +3 60 kg
LEGEND
BB Bottom panel width LWK Inside cabinet width SKL Length of drawer
FAS Front overlay, side MET Minimum installation depth
FST Front overlay NL Nominal length
KV Front edge of cabinet RWB Width of back panel

All dimensions in millimetres. Subject to changes. GRASS 21



	Montaggio e regolazione
	Sponda H89
	Sponda H89 interno
	Sponda H185
	Sponda H185 interno
	Guida Dynapro

